EAST LINDSEY DISTRICT COUNCIL

NOTICE IS HEREBY GIVEN that pursuant to Section 35(C) of the Road Traffic Regulation Act 1984 the Council has resolved to vary charges for car parking throughout East Lindsey. All car parking charges for car parks administered by East Lindsey District Council throughout the district will remain unchanged with the exception of the car parks listed below:-

Town	Location	Tariff Structure (2015/16)	Proposed New Tariffs
Alford	Market Place	0.5 Hour - £0.50 1 Hour - £1.00 (maximum stay)	0.5 hour – FREE (with ticket) 1 hour - £1:00 (maximum stay)
	South Street	2 Hours - £1.00 4 Hours - £1.50 All Day - £3.00 Weekly Ticket - £9.00	1 hour – FREE (with ticket) 2 hours – £1:00 All Day: £2:00 Weekly Ticket - £9.00
	Millers Way	All Day - Free	All Day – FREE (with ticket)
Burgh Le Marsh	Market Place	All Day - Free	All Day – FREE (with ticket)
Coningsby	High Street/Silver Street	All Day - Free	2 hours – FREE (with ticket) All Day: £2:00
Chapel St Leonards	Well Vale Drive	March - October 2 Hours - free 3 Hours - £1.00 4 Hours - £1.50 All Day - £2.00 Weekly Ticket - £9.00 Coaches - £6.00 November - February Free	March to October 2 Hours – FREE (with ticket) 3 Hours - £1.00 4 Hours - £1.50 All Day - £2.00 Weekly Ticket - £9.00 Coaches - £6.00 November to February 1 hour: £1:00; All Day: £2:00
	Sea Road	March - October 0.5 Hour - £0.50 1 Hour - £0.80 2 Hours - £1.20 3 Hours - £2.00 4 Hours - £3.00 (Maximum stay) November – February Free	March - October 0.5 Hour - £0.50 1 Hour - £0.80 2 Hours - £1.20 3 Hours - £2.00 4 Hours - £3.00 (Maximum stay) November to February 1 hour: £1:00; All Day: £2:00
Horncastle	The Bain	2 Hours - £1.00 4 Hours - £1.50 All Day - £3.00 Weekly Ticket - £9.00	2 Hours - £1.00 4 Hours - £1.50 All Day - £3.00 Weekly Ticket - £9.00
	Catt le Market	All Day - Free	All Day – FREE (with ticket)
	St Lawrence Street	0.5 Hour - £0.50 1 Hour - £1.00 2 Hours - £1.50 3 Hours - £2.00 4 Hours - £3.00 (maximum stay)	2 Hours - £1.00 4 Hours - £1.50 All Day - £3.00 Weekly Ticket - £9.00
	Market Place	0.5 Hour - £0.50 1 Hour - £1.00 (maximum stay)	0.5 Hour – FREE (with ticket) 1 Hour - £1.00 (maximum stay)
Ingoldmells	Sea Lane	March to October Per Hour - £0.80 November to February All Day: £1:00	March to October Per Hour - £0.80 November to February 1 hour: £1:00; All Day: £2:00
	Jackson's Corner	March to October 2 Hours - £0.80 4 Hours - £1.20 6 Hours - £1.60 8 Hours - £1.80 All Day - £2.00 Weekly Ticket - £9.00 November to February Free	March to October 2 Hours - £0.80 4 Hours - £1.20 6 Hours - £1.60 8 Hours - £1.80 All Day - £2.00 Weekly Ticket - £9.00 November to February 1 hour: £1:00; All Day: £2:00

Louth	Town Hall	0.5 Hour - £0.50 1 Hour - £1.00 (Maximum stay)	1 Hour - £1.00 (maximum stay)
	Market Place	0.5 Hour - £0.50 (Maximum stay)	0.5 Hour – FREE (with ticket)(maximum stay)
	Broadbank	0.5 Hour - £0.50 1 Hour - £1.00 2 Hours - £1.50 3 Hours - £2.00 4 Hours - £3.00 (maximum stay)	1 hour: £1:00 2 hours: £1:50 4 hours: £2:00 (maximum stay)
	Cannon Street	0.5 Hour - £0.50 1 Hour - £1.00 (Maximum stay)	1 Hour - £1.00 (maximum stay)
	Kidgate	0.5 Hour - £0.50 1 Hour - £1.00 2 Hours - £1.50 3 Hours - £2.00 4 Hours - £3.00 (Maximum stay)	1 hour: £1:00 2 hours: £1.50 4 hours: £2:00 (maximum stay)
	Kiln Lane	2 Hours - £1.00 4 Hours - £1.50 All Day - £3.00 Weekly Ticket - £9.00	1 hour: £1:00 2 hours: £1.50 4 hours: £2:00 All Day - £3.00 Weekly Ticket - £9.00
	Co-op, Northgate	0.5 Hour - £0.50 1 Hour - £0.80 2 Hours - £1.20 3 Hours - £2.00 4 Hours - £3.00 (Maximum stay)	0.5 Hour - £0.50 1 Hour - £0.80 2 Hours - £1.20 3 Hours - £2.00 4 Hours - £3.00 (Maximum stay)
	Queen Street	0.5 Hour - £0.50 1 Hour - £1.00 2 Hours - £1.50 3 Hours - £2.00 4 Hours - £3.00 (Maximum stay)	1 hour: £1:00 2 hours: £1.50 4 hours: £2:00 (maximum stay)
	Northgate East	0.5 Hour - £0.50 1 Hour - £1.00 2 Hours - £1.50 3 Hours - £2.00 4 Hours - £3.00 (Maximum stay) Weekly Ticket - £9.00	1 hour: £1:00 2 hours: £1.50 4 hours: £2:00 (maximum stay) Weekly Ticket - £9.00
	Northgate West	0.5 Hour - £0.50 1 Hour - £1.00 (Maximum stay)	1 Hour - £1.00 (maximum stay)
	Newmarket	2 Hours - £1.00 4 Hours - £1.50 All Day - £3.00 Weekly Ticket - £9.00	1 hour: £1:00 2 hours: £1.50 All Day: £2:00
	Linden Walk	All Day - Free	All Day – Free (with ticket)
	Catt le Market	All Day - Free	All Day – Free (with ticket)
	Bridge Street	2 Hours - Free (With Ticket) 3 Hours - £1.00 4 Hours - £1.50 All Day - £3.00	2 Hours - Free (With Ticket) All Day - £2:00
Mablethorpe	Seaview	March to October 2 Hours - £1.60 All Day - £5.00 After 2.00 pm - £2.50	March to October 1 hour: £1:00 3 hours: £2:00 All Day: £5:00
		November to February Free	November to February 1 hour: £1:00; All Day: £2:00
	Queen's Park South	March to October 2 Hours - £1.60 All Day - £5.00 After 2.00 pm - £2.50	March to October 1 hour: £1:00 3 hours: £2:00 All Day: £5:00
		November to February FREE	November to February 1 hour: £1:00; All Day: £2:00
	Queen's Park Main	March to October 2 Hours - £1.60 All Day - £5.00 After 2.00 pm - £2.50 November to February Free	March to October 1 hour: £1:00 3 hours: £2:00 All Day: £5:00 November to February 1 hour: £1:00; All Day: £2:00

Mablethorpe	Quebec Road	March to October Per Hour - £0.80	March to October Per Hour - £0.80
		November to February Free	November to February 1 hour: £1:00; All Day: £2:00
	Seacroft Road	2 Hours - £1.00 4 Hours - £1.50 All Day - £3.00 Coaches - £6.00	2 Hours - £1.00 4 Hours - £1.50 All Day - £3.00 Coaches - £6.00
	High Street	0.5 Hour - £0.50 1 Hour - £1.00 2 Hours - £1.50 3 Hours - £2.00 4 Hours - £3.00 (Maximum stay)	0.5 Hour - £0.50 1 Hour - £1.00 2 Hours - £1.50 3 Hours - £2.00 4 Hours - £3.00 (Maximum stay)
	Park Square	2 hours – free (with ticket) 3 hours – £2.00 4 Hours - £3.00 (Maximum stay)	2 hours – free (with ticket) 3 hours – £2.00 4 Hours - £3.00 (Maximum stay)
Sandilands	Sandilands	All Day – Free	2 hours: FREE (with ticket) All Day: £2:00
Skegness	Richmond Drive (Coach Par k)	All Day - £7.00 After 2pm - £4.00	All Day - £5.00
	Arcadia, Drummond Road	0.5 Hour - £0.50 1 Hour - £1.00 2 Hours - £1.50 3 Hours - £2.00 4 Hours - £3.00 (Maximum stay) Weekly Ticket - £9.00	0.5 Hour - £0.50 1 Hour - £1.00 2 Hours - £1.50 3 Hours - £2.00 4 Hours - £3.00 (Maximum stay) Weekly Ticket - £9.00
	Northend of North Parade	March to October 2 Hours - £2.50 All Day - £7.00 After 2.00 pm - £3.50	March to October 1 hours: £1:50 3 hours: £3:00 All Day: £7:00
		November to February Free	November to February 1 hour: £1:00; All Day: £2:00
	Pierside, Grand Parade	March to October 2 Hours - £2.50 All Day - £7.00 After 2.00 pm - £3.50	1 hours: £1:50 3 hours: £3:00 All Day: £8:00
		November to February £1.00 (all day)	November to February 1 hour: £1:00; All Day: £2:00
	Festival, Tower Esplanade	March to October 2 Hours - £2.50 All Day - £7.00 After 2.00 pm - £3.50 November to February	1 hours: £1:50 3 hours: £3:00 All Day: £8:00 November to February
	Princes Parade	£1.00 (all day) March to October	1 hour: £1:00; All Day: £2:00 1 hours: £1:50
	T illicos T diado	2 Hours - £2.50 All Day - £7.00 After 2.00 pm - £3.50	3 hours: £3:00 All Day: £7:00
		November to February Free	November to February 1 hour: £1:00; All Day: £2:00
	Scarborough Avenue	March to October 2 hours free (with ticket) 3 hours. £1.00 4 hours. £2.00 5 hours. £3.00 6 hours. £4.00 All Day. £7.00	March to October 2 hours free (with ticket) 3 hours. £1.00 4 hours. £2.00 5 hours. £3.00 6 hours. £4.00 All Day. £7.00
		November to February Free	November to February 2 hours: FREE (with ticket); All Day: £2:00
	Scarborough Esplanade	March to October Per Hour - £1.00	March to October Per Hour - £1.00 November to February
	0	November to February All Day - £1.00	1 hour: £1:00; All Day: £2:00
	Swimming Pool	March to October Per Hour - £1.00	March to October Per Hour - £1.00
		November to February All Day - £1.00	November to February 1 hour: £1:00; All Day: £2:00

			0.711 00.70
Skegness	Lawn Park, Beresford Avenue	0.5 Hour - £0.50 1 Hour - £0.80 2 Hours - £1.20 3 Hours - £2.00 4 Hours - £3.00 (maximum stay)	0.5 Hour - £0.50 1 Hour - £0.80 2 Hours - £1.20 3 Hours - £2.00 4 Hours - £3.00 (maximum stay)
Sutton on Sea	Broadway	March to October 2 Hours - £1.60 All Day - £5.00 After 2.00 pm - £2.50 Coaches - £6.00 (all day) November to February Free	March to October 1 hour: £1:00 3 hours: £2:00 All Day: 5:00 Coaches - £6.00 (all day) November to February 1 hour: £1:00; All Day: £2:00
	Marine Avenue	2 Hours - Free (With Ticket) 3 Hours - £2.00 4 hours - £3.00 All Day. £5.00	2 Hours - Free (With Ticket) 3 Hours - £2.00 4 hours - £3.00 All Day. £5.00
		November to February Free	November to February 2 hours: FREE (with ticket); All Day: £2:00
Spilsby	Post Office Lane	1 Hours - Free (With Ticket) 3 Hours - £1.00 4 Hours - £1.50 All Day - £3.00	1 hour: Free (with ticket) All Day: £2:00
	Market Place	0.5 Hour - £0.50 1 Hour - £1.00 2 Hours - £1.50 3 Hours - £2.00 4 Hours - £3.00 (Maximum stay)	1 hour: Free (with ticket) All Day: £2:00
	Buttercross	0.5 Hour - £0.50 1 Hour - £1.00 2 Hours - £1.50 3 Hours - £2.00 4 Hours - £3.00 (Maximum stay)	1 hour: Free (with ticket) All Day: £2:00
	Boson Road	All Day – Free	1 hour: Free (with ticket) All Day: £2:00
Tattershall	Off Market PI ace	All Day – Free	2 hours: FREE (with ticket) All Day: £2:00
Woodhall Spa	Broadway	2 Hours - Free (With Ticket) 3 Hours - £1.00 4 Hours - £1.50 All Day - £3.00	2 hours: FREE (with ticket) All Day: £2:00
	Royal Square	2 Hours - Free (With Ticket) 3 Hours - £1.00 4 Hours - £1.50 All Day - £3.00	2 hours: FREE (with ticket) All Day: £2:00

The new charges will take effect on or after 6th June 2017.

Stuart Davy, Chief Executive

Dated this 10th day of May 2017

East Lindsey District Council Tedder Hall Manby Park Manby Louth Lincolnshire LN11 8UP